Algebra 2 — Difference of Squares Worksheet

Hour:

Name: I&,\?

Factor the following expressions using the Difference of Squares Formula : a? — b? = (a + b)(a — b)

1. x2-100
2.x%2 — 64
3. 9 —x?

4. x* -1

5. x2-16
6.81 — x?
7. 144 — x?
8.x% —169
9. x2—4
10. 49 — x?

Answer : (y_+ lb) (SL' ! DX

Answer: (% +8)(x-Y)
Answer:_((3¥w% ) (3-x)
Answer:__(X+1)(x =1)
Answer:_(¥r4) (x4 )
Ao Elep i)

Answer:(\l*\b\(ll-xv

Answer : (k+43)(x-—|3)

Answer : (X*l)(k’z>

Answer: (7 +x) ( '\-54)

The following 5 problems will need to be factored twice. First you’ll factor out the GCF, then you’ll factor

using a difference of squares.

11. 3x3 — 75x

3\’_ L\L‘L"I—S)
12. 5x* — 80x?
Sxi(*f’\b>
13. 2x2 — 242

gl xte 2]

14, 3x® — 27«

Ix ( SLLQ"I )
sl o)
15. 8x%2 — 512

§(x-e)

Answer:__ 3w (\"*S)()"’t"l

Answer : SXI(\U U”(x’b{)

Answer : 1( X*’“) { % “)

Answer : 3"(\‘1* 3 )(kl" 3)

Answer : g(\‘«“‘ X) (34’ 'X)
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